Worksheet 1 - Review

1. Find all the values of z where the tangent lines to y = I—; + 5z and y = 3z?% are parallel.

Recall : ~Slope of tangenk line. 1o & graph. is griven by the derivative
- Two lines are paralie] when Hreir slopes ace equal

3
y=X+5% 2y =x45 x:+5 = 6X
- 2 =2V = 6X X=éx+5 =0
y = 2X >J 6 (Xx-5)x-N=0 =>|X= 1,5

2. Given that f'(z) = 2e” — 3, and that f(0) = 7, find f(z).

£ = (2% Aax = 26X 31 +C

{f(o) =2e%3.0+C =z+c} e>C =5 ,ﬁ(x)—, 2% 3x+5
flo)=%

3. Find % for y = 232,

3X
3x In(x In(x)-3%
jzx = (e " )) =

j.___ eln(x).sx Dnlx)-Bx],= XBX[_])Z_ -3x+\nlx)-3]

___}sz[ 3+3\n(>0]



4. For what value of c is the function below continuous on (—o0, 00)?

f(x)z{ cc+4 ,if z<1

2 +2 ,if z>1 'Reea.\\:A{-’u Fon is conls s
ak a poinkt a.in thedomalin
’(\\"\.Q(x) = \\WL (QX+4) =C+Lf ie OJ\AP::\\J ‘F
1"
i F06) = \.m (x%20) = \+2c = {(1) Liw 0= Ui £ = £
X1
C+4 =1+¥2C = C=3
5. Find the derivative of f(z) = arctan(sin(z)).
__Cosx) Chain Rule
¥ Q= \+6\n,(x)
6. Find the derivative of f(z) = 3% *-_3z44
2
oy =3 n3)- 2x-3)  Chatn Rule

7. Find the integral:

/ﬂ‘"’g zqu,d“‘ r\ @

w= \n(X)

Suhs\ihd\‘an
dumday  Dushbeion

K=\ => u= \n(\)=0O
x=€'=> w=\n(e*)= 4

8. Find the integral:

—235,_—2dx = iﬁ_—dx = (X—B\-ﬁ‘ 4\\)(
/1: -6z +10 (X’3\2+ \ (X—3)1+?
= S__)_(_'_?_;__Ax + g ‘ AX = -32- \n(x*6%+10) +
V/_\‘L"?" * (X-3Y +ouctan (x-3) +C
W =(x-3)|
Au = 2(%-2)AX

Tk s
= Linly =L n |- v
= LIn(x6x+10)+C

2

Iy = (x-
Fou = (X-2)MX



9. Find the integral:

/n: In(z)dz (——'\ INOAAM = L—-’\n()(\ S }:T:,’: (\n(Xﬂ'AX
X\a(x) - (8 fax = & T in0) -4 §x°ax

I

_—.J;;: In(xX) - Jq: : J:,:Y\q'-l—C
+ * :
= ._)%: \n(xX) — —}};" +C jhteabrmhon @Paﬂfr

10. Find the integral:

/we?sd”? = \T\'eﬁx +C —\

11. Find the integral:
i@ _ O Sl 4. _ S 1 —08*09) _ gun (x) X
/ cos(z) @ = & Cos(X) FinAx = COS(X)
u_=cos(X)
S =W —A\Q Au= —'n(X)dX

e
= — (\n\w\ ~\~/2_) +C
=\— \n \castx)) +C°S () ¢

]

!\

12. Find the integral:

/ arctan(z)de = S()Q’Mn(x\a\x = X arekan (X) — SX (anekan'txy) AKX

= Yanekan (X) — T_—;@_a\x

=Xanetanl¥) - | L+ Fdw
= Xanekan 60 = F Inhd +C
"P orckan (X) — ‘\i\" (\-&-x’—) +C

| o

3



13. Find the integral:

\

/2\/iTJlrx NZEST SW (X‘\'Z) - Xm (\_\_(\rmy?—) Ik

\Em«\(ﬁ‘m +C

14. Find the integral:

/cos(ﬁ)dz

w=\X
w= A
20 AW =ANK

Seos(\l'i\Ax = Scbs (W) -2wdve =2 S\Lopsc\qa\w,
= 2 Ju(Fintw) A
= 1[w4«n(w) S W ﬁh‘n(u)du,]
= 2 [usn(w) — S‘m\(u ij
= 2 [wan(w) +es+C

rth‘a ain (VX) +200s (1X) + C]

|




